
Pop Quiz #1  General 

1.  Which of the following are Chief Judge ONLY deductions: 
a.  Failure to observe specified warm up time (after a warning) 

b. Unallowable element 
c. Missing a value part 
d. Missing a Special Requirement 

e. None of the above 
 

2.  Starting the exercise prior to the signal being given is the following deduction. 

a. .20 
b. .50 
c. .30 

d. .4 
e. None of the above 

 

3.  An Uneven Bar routine consists of 4 elements.  The deduction for this short exercise is: 
a.  .50 taken by the Chief Judge 

b. 1.00 taken by all the Panel Judges 
c. .3 taken by all the Panel Judges 
d. 2.00 taken by the Chief Judge 

e. None of the above 
 

4.  The Jury of Appeals consists of: 

a.  The Meet Referee, the Chief Judge of the event involved and the Meet Director 
b. The Chief Judge of the Event, the Meet Director and a representative of USAG 

(State/Regional and or Regional/National JO Committee Chairman) 

c. Chief Judges of all the Events, the Meet Director and a representative of USAG 
(State/Regional and or Regional/National JO Committee Chairman) 

d. The Meet Referee, Chief Judges on all events, the Meet Director and a representative of 

USAG (State/Regional and or Regional/National JO Committee Chairman 
e. None of the above 

 

5.  The average of score of the two judges on the event is 8.6.  The range of the two scores 
must be: 

a.  .5 

b. .3 
c. .4 
d. .6 

e. None of the above 
 



6.  The scores of a 4 Judge Panel consist of 9.45, 9.3, 9.25, 8.95.  The gymnast also has 
exceeded the fall time on the event.  Her final average score would be: 

a.  9.2 
b. 9.3 
c. 9.275 

d. 9.25 
e. None of these 

 

7.  On beam a gymnast performs a switch side leap connected to a straddle jump in a side 
position.  Later in the routine she performs a switch side leap.  Her TOTAL bonus is: 

a.  .1 

b. .2 
c. .3 
d. .4 

e. .5 
 

8.  A gymnast performs a back handspring where her feet never touch the beam. She then 

performs back handspring connected to another back handspring.  Which statement is true? 
 
a.  She gets no credit for a series because it is the third back handspring 

b. She gets credit for a Special Requirement series at Level 10 
c. She gets credit for a Special Requirement series at Level 9 

d. The series would be noted as a B + 0. 
e. None of the above 

 

9.  A Level 10 gymnast performs 4 A elements 2 B elements 1 C element, and 1 D element.  
       She has all her Special Requirements.  Her Start Value would be: 
a.  9.2 

b. 9.3 
c. 9.4 
d. 9.5 

e. 9.6 

 

 

 


